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06 AldF-dn 1,440 900 540
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201 Luke-gn 2,000 5,100 23,100
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201 IuF-4H] 480 480 0
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OA7| AT 71 FHE 25090 * 1,920 480
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Old#&g] 24,758
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02 FTT9H 29,999 29,259 740
OlFF2TFLAA] 1,320
047tz A7|ebd e o sn 110,00090 = 1704 = 129 = 1,320
O[AIA & FA1H] ] 28,679
02N A7HA 48 500,0009 = 2714 = 1,000
O H At F2AHAA 55 172,805¢) * 97H & * 129 = 18,663
O 2Z A (ke HAHA]) AANGSE 113,900¢) * 2% * 374 = 634
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01 AFFE#E 2,340 3,016 N
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09+ 32,6509 * 291 * 73Y = 4,767
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Olgvr48H]] 6,100
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01 AEH] 3,000 3,000 0
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401 A A H] B 27,500 31,250 A3,750
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101 Q171H] 93,379 115,214 N21,835
10 71 Z2=AS B 93,379 115,214 ~21,835
OdY A3 222 BHZEARY 32,6500 * 391 * 260 = 25,467
OFes 27 287|544 E8dd o 32,6509 * 491 * 260 = 33,956
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201 Luk-FH] 259,913 259,913 0
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OZE|ZEZE7] S #aH| 180,0009) * 43] = 720
0dgaztz WAAA FEH| 30,0009 * 123 * 174 = 360
22,820 44,200 A21,380
o719 #e (= 7,560]
[ 15,260]
22,820 44,200 A21,380
o787 5 (= 7,5601
[ 15,260]
15,120 16,500 A1,380
71 e A5 Wk g [ 7,560]
[ 7,560]
15,120 16,500 A1,380
307 ®1gkolxd (= 7,560]
[ 7,560]
05 W E= 15,120 16,500 A 1,380
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o A3t 70,0009 * 129 = 2,040
As A&7 A T 2,660 22,700 A20,040
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OME7k2 F8740 ARF T4 500,000 = 3t} = 1,500
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O 7dH] A1 ] 660
OFALAEHAZH I+ 220,000 * 3t = 660
61,330 49,360 11,970
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32,000 27,000 5,000
oA & & 9] &) o WAL [=F 16,000]
[ 16,000]
32,000 27,000 5,000
402 W 7FR}RE 0] A [= 16,0001]
[ 16,000]
01 N7AER 32,000 27,000 5,000
Ot 5 &7 10,666,666 * 32] 32,000
[+ 16,000]
[ 16,000]
11,376 11,376 0
S FAE oY
[= 2,275]
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10 AT EZA SRS 11,376 11,376 0
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R FAE BT 17,954 10,984 6,970
101 1714] 11,754 7,584 4,170
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202 o4 1,600 1,000 600
01 o] 1,600 1,000 600
OFT8E% +3849 o 20,0009 = 491 = 20 = 1,600
206 A =y 500 0 500
01 A& 500 0 500
OFd7] o E= Hol+4 500,000 * 13] = 500
301 ARk AF 900 900 0
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307 W1zkeld 500 500 0
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118,314 71,807 46,507
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o frF o 1,140.49¢ = 2,850 ¢ = 3,251




B A - (FA) - ATAY -

)
o,
i
2
>
1%
e
L
12 H

o & ] 1,000,000 * 14] = 1,000

1,000 2,000 21,000

12 71EtRAAF 1,000 2,000 AT1,000

Y AR AF 50,0001 * 207

1,000

104,936 58,663 46,273
[= 2,900]

[ 102,036]

A3 AnS T2 1 [ 2,900]

8,400 7,900 500

[ 5,5001]

5,900 5,400 500
[ 2,900]

[ 3,000]

=l 5,900 5,400 500

|-H] ] 5,900

A =9 3,500
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27 B 1}
B AR5 T
A B 7 9::9)
BA A - R (FA) - AR - AT of 412 33a s
01 =ujodn] 1,000 1,000 0
OFAAIA 2% AA 50,0009 * 51 * 4 1,000
203 QHF-F7H] 12,000 12,000 0
03 AA=AY 12,000 12,000 0
OFArA A4 %5 12,000,000 = 12,000
301 LRk AgH 750 750 0
12 7|E}RAF 750 750 0
OARARTHG % 50,0009 * 1521 750
FEFA21Y I3 Y 15,000 15,000 0
307 W1zkold 15,000 15,000 0
02 WHESEZ 15,000 15,000 0
OF 99219 15,000,000¢ 15,000
FARRAF7E AL 30,000 0 30,000
207 A7) 30,000 0 30,000
01 A7-8&9H] 30,000 0 30,000
OAI3x}F A B AF7] g 30,000,000 = 30,000
752,940 323,020 429,920
= A5 o4
[= 450,000]




(37 B 1)
B AR5 T
A S H A (91 9)

B A - (FA) - ATAY -

)
oX,
>

¢

oH
ol

e
rerk
12 b

302,940]

fo

ox
)
)

752,940
450,000]

302,940]

323,020

429,920

re

rJ
o,
2
2
4
[
N
ox,

562,500
450,000]

112,500]

304,920

257,580

=K

6,030
4,824]

1,206]

5,400

630

670,000 * 9%

6,030
6,030
6,030
4,824]

1,206]

5,400

630

401 A]Ad W] 2o B

=K

24,300

19,440]

4,860]

19,200

5,100




FA1 8 B
A o) E 25 QHy
2909 % 3 e] (b9 e)
BA A - R (FA) - AR - AT of 412 33a ) 257
04 AJAH] 24,300 19,200 5,100
Odaioly F2EAHAAY sl A 2w 2,700,0009) = 9% = 24,300
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OEHoY A= d4 A% 70,0009 = 114 = 770
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S A 7] (H9 19D
= 3 =0 o) (= =) A B AL ol Ad % =
T/H * Zo 2H . %‘A (§] 7‘—”) ° k“_l—}\]'ﬁ ° lé © = O:“ <= 0:]])\],@'.] H]ﬂ-g%
EE LRI 70,0001 + 8<1 « 19] = 260
Eto] ok #9 100,000 0 100,000
402 Ao A 100,000 0 100,000
01 N7AR®Z 100,000 0 100,000
O Exlo]E 21 50,000,0009 * 272 = 100,000
T A= A A Y F] 10,000 10,000 0
307 WitolA 10,000 10,000 0
04 TIZFPAPR 10,000 10,000 0
O gl A43] A= ZAXFA g 10,000,000 = 13] = 10,000
k2l A A A XY 50,000 0 50,000
402 N 7AFE o] A 50,000 0 50,000
01 NARHEZ 50,000 0 50,000
OUAANA MA =AY 10,000,000¢) * 57) & = 50,000
37 n] (A 1A} 85,120 63,549 21,571
R RE) 4,200 4,200 0
AR AT A= gH] 4,200 4,200 0
203 5% 4,200 4,200 0
04 FAEFAFF31| 4,200 4,200 0
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OF-AEFFFF%IH 350,0009 * 12€ = 4,200
7] -7 v 80,920 59,349 21,571
FHBAHT 7|24 A 23,400 24,674 A1,274
201 Iuk-4H] 17,400 16,124 1,276
01 AR 17,400 16,124 1,276
Oldrk+g1]] 13,000
OF-A &3 FTAA 13,000,000 * 12] = 13,000
Ol&F%ZH]] 4,400
OFAEd T AqAS 5,0009 * 591 * 176 = 4,400
202 o] 1] 6,000 8,550 22,550
01 =ujodn] 6,000 8,550 A2,550
OF-A &G FTAAS 20,0009 * 51 * 60 = 6,000
AARA TG 7] B AN 22,440 13,262 9,178
201 W4 H] 9,600 3,800 5,800
01 AHF-¥2]H| 9,600 3,800 5,800
Oldrr+81]] 3,600
OFXEd FTAAN 3,600,0009) = 14 = 3,600
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OF-AEF T A 5,0009) * 481 * 200 4,000
o7& WEd4L ArdEHas A 5,0009 * 481 * 100 2,000
202 ofH] 12,840 9,462 3,378
01 =ujofn] 12,840 9,462 3,378
OFALd F A 20,0009 * 491 « 123 9,840
OH7IE &4 Amds ofn 20,0009 * 291 * 75 3,000
s FatEd 717 vl 8,600 4,294 4,306
201 L¥kgH] 6,200 1,900 4,300
01 AHF¥2H| 6,200 1,900 4,300
Olgdr8H]] 3,400
OF-AEF T A 3,400,000 * 14 3,400
Ol&%H4l] 2,800
OFAED FTAAY 5,0009 * 291 * 280 2,800
202 4] 2,400 2,394 6
01 =ujodn] 2,400 2,394 6
OF-AEF T AAS 20,0009 = 291 * 60Y 2,400
v stEd 7] 27| 13,560 0 13,560
201 GuF-FH] 6,000 0 6,000
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01 AHF-¥2]H| 6,000 0 6,000
Oldrr+81]] 3,000
OFAED A 3,000,0009) = 14 = 3,000
Ol ZH]] 3,000
OFAEF FAqAS 5,0009 * 391 * 200 = 3,000
202 o]H] 7,560 0 7,560
01 =ujodn] 7,560 0 7,560
OFA+d TAA% 20,0009 * 391 = 1269 = 7,560
A 717 12,920 17,119 A4,199
A RFE- g H| 5,960 7,600 A1,640
01 ApFaH] 5,960 7,600 A1,640
Oldrr+81]] 3,360
OFAED A 3,360,0009) = 14] = 3,360
OlFZH]] 2,600
OF-AEF T A 5,0009 * 491 = 130 = 2,600
202 ofH] 6,960 9,519 22,559
01 =ujodn] 6,960 9,519 A2,559
OFALd T A 20,0009 * 491 = 87 = 6,960
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1,270,000 2,872,850 A1,602,850
w57 A = 1,270,000 2,872,850 A1,602,850
50,000 30,000 20,000
702 VA ES 50,000 30,000 20,000
01 7Iad&E+ 50,000 30,000 20,000
T RAEATIE AEe 50,000,000 * 13] = 50,000
=2 g AlBAE ol 7}t 20,000 10,000 10,000
701 7B A S 20,000 10,000 10,000
01 7IEt A== 20,000 10,000 10,000
HE A YA E o]y} 20,000,000 * 14 = 20,000
FHnks FRAAE 24 1,200,000 2,800,000 A1,600,000
702 7FAES 1,200,000 2,800,000 A1,600,000
= 1,200,000 2,800,000 1,600,000
YA TS FRIA L7 F (A H) 1,200,000,000¢) = 13] = 1,200,000




